Reactivity

Lesson 4 - Symbol Equations
Chemistry - Key Stage 3

Miss Fenner
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You heat 20g of magnesium and it reacts with 10g of
oxygen. What mass of magnesium oxide forms?

20g + 10g » 309
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Copy and complete this chemical reaction.
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Copy and complete this chemical reaction.
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Independent Practice

5. CH4+

2 - 2
H, » __NH,
O, » CO, +

H,0
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Independent Practice
. 2H, + O, » 2H.0
2. N, + 3H,» 2NH,

3. CH4+ 2C>2 - CC)2 + ZHZO
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Independent Practice

1. Zn + HC|l - ZnCI2 + H2

2. CaO + HCI - CaCI2 + HZO
3. Na + H2SC)4 = Na2504+ H2

4. CuO + C » Cu + CO,

5. Al+ Fe O, s ALO.+ Fe
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Independent Practice

1. Zn +2HCI| - ZmCI2 + H2

2. CaO +2HCIl - CaCI2 + HZO
3. 2Na + H2SC>4 = Na2SC)4 + H2

4. 2CuO + C » 2Cu + CO,

5. 2Al+ FeO, » ALO,+ 2Fe
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